MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

TWO DIGIT DECIMAL NUMBER Name:
Time: Score: y—
w0 0.003 x 0.015 = w6 2% 0.9 =
w0 x (—39) = 1 1% 0.034 =
w6 0.008 x 0.37 = i 0 X (=7.7) =

3560 —0.01 x 0.0048 =
35 0 x (—0.083) =
306) 6 % 0.01 =

367 —0.07 x 0.043 =
368) - 0.005 x (—0.0097) =
39 0.6 X (—56) =

35700 () X 6.8 =

s —0.002 X 2.2 =
372 0.07 x 0.57 =

73 0.05 x (—0.003) =
st —0.3 x 0.076 =

357) 0.08 X 29 =

Mathematics: Multiplication - Level 7 - Horizontal - Set 5
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0.005 x (—0.0039) =
—7x29=

—1 x 0.006 =

0.08 x (—0.002) =
—0.01 x (—0.0083) =
—0.003 x (—83) =
—2 x 0.0049 =
0.003 x 0.059 =

0.3 x (—1.6) =

—0.1 x (—0.062) =
—0.1 x 61 =

0 x (—0.95) =
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